CHAPTER 4 - Selected Answers “Evens” 
          p.1
Section 4.1 (p.206)

2. 5  [image: image1.jpg]


  6. never  8. always  10. A(-3,2), B(-1,-2), C(2,0), D(2,3) 
12. A(-3,0), B(-4,-3), C(0,2), D(1,-2) 

[image: image2.jpg]14.



  [image: image3.jpg]


  [image: image4.jpg]


 

20. II  22. IV  24. I  26. II  28. about (4000,220)  30. 2010, 29  32. The greater the length of the car, the less the gas mileage since the weight increases with the length. 34. 2.1, 4.3, slowest is farthest left, fastest is farthest right  36. B  38. D  40. 15  42. 30.5  44. 13 
46. 17.59375  48. 2.6  50. 
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  52. 2  54. -4  56. 0  58. 
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  60. 1  62. 
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  64. 
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  66. 
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Section 4.2 (p.213)

2. function  4. not  6. not  8. 
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  10. (sample answer) (0,7),(-1,2),(1,12) 
12. (sample answer) (0,3),(-2,2),(2,4) [image: image11.jpg]


  16. solution 

18. not  20. solution  22. y = 3x + 12  24. 
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  26. 
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  28. 
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30. y = 4x – 18  32. (sample answers) (0,7),(1,3),(-1,11)  34. (samples) (0,4),(2,3),(-2,5)

36. (samples) (0,-3),(5,0), 
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  38. (0,9),(1,12),(-1,6) 
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50. 

	x
	20
	40
	60
	80

	y
	65
	51
	37
	23
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56. More households are obtaining internet access. Since the world population is finite, this trend cannot continue indefinitely. 58. H  60. 4  62. -29  64. -4a – 3b  66. -2n2 – 6m  68. -4c3 + 10c2 – 4c  70. 13  72. -16  74. 15%  76. 50%  78. 0.5%  80. 300% 
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Section 4.3 (p.219)

2. vertical  4. [image: image23.jpg]


  6.[image: image24.jpg]


 8. y = -3  10. always  12. never
14. solution  16. not  18. (9,0),(9,1),(9,2)  20. (0,10),(1,10),(5,10) 22. (-10,0),(-10,1),(-10,2)
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30. y = 2  32. y = -1  34. (a) 
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(b) 
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 36. F  38. 12  40. 324

42. 1.6  44. 18  46. 
[image: image30.wmf]16

21

2424

24,,

  48. 
[image: image31.wmf]76

1414

14,,

50. 
[image: image32.wmf]32

21

3636

36,,

52. 
[image: image33.wmf]35

12

9090

90,,


Section 4.4 (p.225)
2. 5  4. -10  6. 17  8. 5  10. x-intercept = 
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, y-intercept = 3 (see graph below) 

12. x-intercept = 
[image: image35.wmf]1

2

, y-intercept = 1 (see graphs below)  14. x-intercept = 1, y-intercept = -1  
[image: image36.jpg]


   [image: image37.jpg]


  [image: image38.jpg]



16. x-intercept = -2, y-intercept = 4  18. x =4  20. x = 3  22. x = -7  24. x = -12  26. x = -3

28. y = 7  30. y = -24  32. y = 3
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  36. B  38. A  [image: image40.jpg]
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50. 15 – If the adults get in free, the student ticket price needs to be $15. 52. 229, number of railroad employees in 1989 (in thousands) 54. (sample answer) no, the model would predict a negative number of employees 56. F  58. 23  60. -1  62. 1  64. 6.9  66. -9 

68. 
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  70. 12  72. 
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  74. $.30  76. $.48  78. $7.13  80. $.01

Section 4.5 (p.233)

2. 25 ft  4. zero  6. undefined  8. positive  10. 1  12. -1  14. -1  16. 
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  18. 1  20. 0  
22. No, for example, the slope for (3,3) and (6,2) is 
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 24. 
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  30. undefined 

32. zero  34. undefined  36. 
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  38. slope  40. 4 ft  42. 7%  44. H  46. 14  48. y = 2x – 1  

50. y = 4x + 11  52. 
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  54. false  56. false  58. true
Section 4.6 (p.239)

2. the origin  4. 
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  6. y = 2x  8. y = 12x 
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 12. 9  14. 
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  16. y = 3x  18. y = 4x  20. 
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  22. y = x
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24. y = -7x  26. yes, direct variation  [image: image58.jpg]
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32. yes, line through origin  34. 324 pounds  36. t = 1.6b  38. A  40. -5  42. 3  44. 2 
46. 
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  48. $7.25/hour  50. not  52. not  54. not  56. 105  58. 9625  60. 3,000,000

Section 4.7 (p.246)
2. slope, y-intercept  4. m = 8.5, b = 0  6. m = 1, b = 3  8. m = 
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, b = 6  10. yes 

12. y = -3x – 11  14. y = 4x + 9  16. 
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  18. m = 3, b = -7  20. m = 
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22. m = 0, b = -2  24. m = 
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36. 
[image: image70.wmf]3

1

22

yx

=-

  38. y = 4x – 3  40. 
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  42. 
[image: image72.wmf]9

1

22

yx

=-+

  44. C  46. m = 1, b =1

48. m = 
[image: image73.wmf]3

2

, b = -2  50. parallel, same slope, m = 2  52. not parallel, different slopes 

54. not parallel, different slopes  56. m = 
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, b = 6  58. The slope indicates the constant rate at which the snow was falling. The y-intercept indicates the amount of snow already on the ground. 60. $590  62. m = 0.115, cost per minute  64. y = 4x + 3  66. parallelogram  68. H

70. 8  72. 3  74. 9  76. 1  78. 10  80. A  82. 
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Section 4.8 (p.255)
2. linear  4. -2  6. -1  8. not a function  10. function  12. not 14. function, D = {1,2,3,4}, 
R = {0}  16. function, D = {0,1,3,2}, R = {8,6,4,2}  18. function D: 1,3,5,7 R: 1,2,3
20. not  22. not  24. not  26. 6,4,2  28. -8,-6,-4  30. -5,-3,-1  32. 7,15,23  34. B  36. A  
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46. -2  48. 3  50. function, D: 1,2,3,4 R: 3,6,9,12  52. not a function  54. Yes, the points resemble a line with constant slope.  56. d = 50t 
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60. B  62. 4  64. -3  66. 
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  68. -1  70. -3  72. 
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Chapter 4 Summary and Review (p.259)
2. Negative y-axis  4. Quadrant III 
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18. 5  20. 
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  22. y = 5x  24. y = -4x  26. 294 miles  28. y = 4x – 1  30. 
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36. 0    [image: image99.jpg]



38. -3  [image: image100.jpg]



40. not a function  42. function, D = {-2,-1,0,1,2,3,4}, R = {-3,-2,-1,0,1,2,3}

Chapter Test (p.263)
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5. IV  6. II  7. III  8. positive x-axis
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17. 
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 20. 0  21. y = x  22. y = 14x  23. y = -5x  24. y = 3x  25. y = -7x + 49  

26. y = -4x + 18  27. 
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  29. not parallel, different slopes 

30. parallel, same slope (3/5)  31. 18, 0, -24  32. 17, 8, -4  33. -1, 2, 6 

34. function, D: 
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, R: 
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Chapter 4 Standardized Test (p.264)

1. D  2. A  3. C  4. D  5. C  6. B  7. D  8. A  9. B
Maintaining Skills (p.265)

2. 
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